Subject: Re: Problem in PSM
Posted by hadi on Thu, 14 Jun 2012 09:02:07 GMT

View Forum Message <> Reply to Message

On Thursday, June 14, 2012 5:21:10 PM UTC+9, fawltyl...@gmail.com wrote:
> On Thursday, June 14, 2012 7:21:54 AM UTC+2, fada...@gmail.com wrote:
>> Hi friends

>> | have a problem that i can not understand about this expression that i wrote the comand like
this and i found this message. INDOW,xsize=400, Ysize=350

>> |DL> plot,x,y,psm=4,position=[0.15,0.15,0.75,0.95],$

>>> XTITLE='X Locations', YTITLE="Y Locations'

>> message:

>> Keyword PSM not allowed in call to: PLOT

>> 9% Error occurred at: SMAINS

>> 9% Execution halted at: SMAINS$

>> please explain me about above expression. Thank you

>> Best Hadi

| guess PSM=4 should be PSYM=4.

regards,
Lajos

Dear Lajos

right, i tested the correct one. But some varible like tim(gmt) un defined. How i write the gmt
command? Thank you

Best Hadi
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